OSL [UER= L ~7R1?
2017 U —RA > hER

EEF—052 FrLISATSR
Pos | IS8 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos | I>FS5>bM4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |HD~ 20 20 20 12 72 1 |S.F 12 8 20 20 60
2 |fhEXHE 12 10 12 20 54 2 |IR fEF 20 10 15 12 57
3 [tEFKEB X2 8 15 8 6 37 3 |’RAR b 15 10 25
4 |maasa 15 15 30 4 |TREFZE) 6 15 21
5 |hct 6 10 8 24 5 |Dorz 20 20
6 |[MMAXER 15 15 6 [LLIUK 6 8 6 20
7 |[&EDOV 12 12| 7 |&52F 15 15
8 =24 10 10 8 |3> RV 12 12
9 (~AZCTD 10 10 9 |#+5 12 12
10 (UwA 8 8 10 |@iME F1&E 10 10
11 | &8t —F8 6 6 11 |88 89T 10 10
12 |[FP—A 6 12 [KAL— 8 8
13 |E~v> 8 8
14 |/NEF Hsh 6 6
FvL>ZH~CARTS R
Pos | I>MF5>bM4%& | Rd1 | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |DESA 20 20 20 20 80
2 |DE&EA 10 15 12 37|
3 | &S @inpactblue 12 12 10 34
4 |SUMIO 15 15 30
K-=CARISX 5 [hABPA 12 15 27|
Pos | I>MS5> M4 | Rdl Rd2 | Rd3 Rd4 | Rd5 Total ZRILAOS X
1 |[znE 15 20 10 45 Pos | I>FS5>bM4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
2 |depa 15 15 15 45 1 [B<%Z 15 20 12 20 67
3 |K 10 20 12 42 2 |SS 15 20 15 50
4 |aqu 6 10 6 20 42 3 |FrEA 12 15 6 33|
5 [(F>& 20 12 32 4 |/h\fa IEX 10 10 8 28
6 [MDi 12 8 10 30 5 |/NEF e 20 20
7 |<FW 8 12 8 28 6 |HEEFILWE 6 10 16|
8 |IEE S— 8 8 7 |\WwbwhwELD3 12 12
9 |lZhd 6 6 8 |FULwr 12 12
10 [(FEH 6 6 9 |[Hit B 10 10
11 0 10 |#0I #84F 8 8
12 11 |E% &= 8 8
13 12 |BEEFE 8 8
14 13 |PAPA 6 6
15 14 [BEH EiE 6 6
15
TIHRI =k
=RIL BUSR Pos | I>FS5>bM4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
Pos | I>hS> b2 Rd1 Rd2 | Rd3 Rd4 [ Rd5 | Total 1 WA s 12 12 20 12 56
1 |EHE =R 10 8 12 8 38 2 |miya 10 8 6 24
2 (it BB 12 20 32 3 |BMRE— 8 15 23
3 [hiro 15 10 6 31 4 |Fyv— 6 15 21
4 |rZh@7RIN 20 10 30| 5 |[OTHEBErA 20 20
5 [&BES 8 12 8 28 6 |BAZED 20 20
6 [Z=VHIL 10 15 25 7 |E=he> 20 20
VAR e 20 20 8 |mo<AeUTICRA 8 10 18
8 [&REl X 20 20 9 |TAY 15 15
9 |EEEHE 15 15 10 |9 DF AXA 15 15
10 (FEE A7) 15 15 11 [EAABPA 12 12
11 |5 >S 12 12 12 [KEN 10 10
12 /vl 241 6 6 13 [Yda 10 10
13 |1L# KIGEB 6 6 14 |(FRCWV 8 8
14 |5 >S 6 6 15 | APy >F— 6 6
15 0 16 |He& f@E— 6 6




